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X 4 AN H 5 | A X 4 AN A 5 | A X 4 AN R 5 |
[ RHT R 2,805\ 1,433| 1,462 1,042 (R T2 1 1,953 993 960 685 (BRI =3 ] 529 276 253 212
CH BT R 932 446 486 385 TR T B 2,557 1,289] 1,268 1,073 LR T BLAR) 1] 503 246 257 204
[ 4emT 2 B 852 420 432 332 PRIFHTRER 1T B 406 224 182 192 [BIRgHT] 3,167| 1,601 1,566 1,219
CHERmT /N 2R 1,075 532 543 441 BRIERTEE R 2T A 559 255 304 208 (R HLHT ] 1,547 777 770 632
FRARETS R BEEITHER3 T B 70 31 39 29 FREEMTALnT 2,014 979 1,035 742
R R 1T H 279 131 148 120 PRIERTEERAT A 270 133 137 98 REHTRET1IT H 228 110 118 104
FRARITY R 2T B 267 125 142 108 RIFHTFERS T B 632 340 292 296 RERTIEET2T H 195 106 89 91
HRETY R 3T H 279 141 138 104 PRIERTEER 6T A 241 115 126 89 REHTARET3 T H 136 74 62 56
FRRITY R feA T B 141 68 73 55 RS BT B I 4,735 2,387 2,348| 1,985 KERTIERTAT H 284 148 136 133
HRETY R 5T H 254 124 130 108 IUIEN [RHET ALHT] 2,857| 1,417| 1,440 1,126
FRARITY R 6T B 262 130 132 110 BRIFHT AT 1] B 122 61 61 58 KT = T
HRETY R 7T A 165 81 84 62 BRIERTART2T A 106 53 53 44 KB HH1 T B 168 73 95 48
FRARITY R 8T H 311 150 161 128 BRIFHT A3 H 105 60 45 48 KT Hif2 T H 257 123 134 80
HRETY R 9T H 142 73 69 57 BRIFHTARTAT H 41 22 19 14 KERT 5~ H3T B 126 62 64 51
HRHRETY L 10T B 239 119 120 99 [ JFr T AR HT ] 374 196 178 164 [T == T 551 258 293 179
[T W, 2 B ] 2,339 1,142| 1,197 951 [&)mT] 11,575 5,793| 5,782 4,511 [ REEmT] 4,955| 2,452 2,503 1,937
[T SR | 1,470 719 751 528 ()11 /T F135 ] 586 294 292 232 LR ] 1,995 959 1,036 764
(kT B A ] 1,293 650 643 514 () [HT Fp 3] 1,132 538 594 424 [FEmT] 1,995 959| 1,036 764
LRI R 3 ] 1,656 817 839 569 EL D 331 160 171 115 [BEAHT /N1 ] 52 23 29 19
[T i ] 1,564 778 786 613 EFNLEN 1,035 529 506 368 [ BEAHT 2 ] 66 34 32 27
[ 4T ] 14,076 6,937 7,139 5,375 ()1 BT /e ] 232 117 115 83 [BEIANT & £ ] 785 395 390 302
LR T PN 7 135 72 63 50 ()10 b/ ] 436 206 230 187 [REA T )\ ] 239 121 118 105
CRAE T R 1,671 809 862 624 () 10T /NG ] 867 432 435 364 [BEAHT B A | ] 731 364 367 255
RS T A I 1,526 742 784 558 ()11 m7 4 ] 115 59 56 42 [RAAMT & H ] 898 436 462 179
(R4 JROT _EAE R ] 1,181 594 587 445 [3E)11mT] 4,734| 2,335 2,399| 1,815 [RAAHT B A ] 1,007 486 521 336
B HT & 1,263 646 617 464 (RArgmT#h N | ] 1,166 589 577 457 [ BEZHT] 3,778 1,859 1,919 1,223
BREFITE 1 T B 469 230 239 142 (RArEIT 40 ] T 631 316 315 229
BT S H2 T B 221 117 104 79 [RArEMTRIA T ] 338 174 164 117 AEF 44,280 21,936| 22,344 16,844




